
３-4 章 ２次関数            年  組  番 氏名（             ） 

あ  次の条件のとき、 の変域を求めなさい。 

①        （ １≦ 𝑥 ≦５ ） 

𝑥 １ ２ ３ ４ ５ 

𝑦 ３ ５ ７ ９ １１ 

 

 

 

 

②        （ －４≦ 𝑥 ≦－１ ） 

𝑥 －４ －３ －２ －１ 

𝑦 １７ １４ １１ ８ 

 

 

 

 

③        （ －１≦ 𝑥 ≦３ ） 

𝑥 －１ ０ １ ２ ３ 

𝑦 ２ ３ ４ ５ ６ 

 

 

 

 

④        （ ２≦ 𝑥 ≦４ ） 

𝑥 ２ ３ ４ 

𝑦 ０ －２ －４ 

 

 

 

 

⑤        （ －５≦ 𝑥 ≦－１ ） 

𝑥 －５ －４ －３ －２ ―１ 

𝑦      

 

 

⑥        （ －２≦ 𝑥 ≦１ ） 

𝑥 －２ －１ ０ １ 

𝑦     

 

 

 

 

⑦        （ ０≦ 𝑥 ≦４ ） 

𝑥 ０ １ ２ ３ ４ 

𝑦      

 

 

 

 

⑧        （ －４≦ 𝑥 ≦０ ） 

𝑥 －４ －３ －２ －１ ０ 

𝑦      

 

 

 

 

⑨        （ ３≦ 𝑥 ≦６ ） 

𝑥 ３ ４ ５ ６ 

𝑦     

 

 

 

 

⑩        （ －２≦ 𝑥 ≦２ ） 

𝑥 －２ －１ ０ １ ２ 

𝑦      
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